# District School Board of Pasco County Bid Recommendation

Bid Title	Lubricants – Transportation Dept.	Number of Vendors Notified	55
Bid Number	09-040-GF	Number of Bids Distributed	9
Date Solicited	July 22, 2008	Number of Vendors Bidding	3
<b>Date Opened</b>	August 14, 2008	Number of "No Bid" Responses	6
Date Board Presentation	September 2, 2008	Funding Source	General
<b>Total Savings</b>	\$7,418.54	Grand Total of Bid	\$94,438.25 Estimate

<u>Recommendation</u>: Recommend acceptance of bid as noted on attached bid tabulation sheet from SSI Petroleum, as lowest and best responsive, responsible bid meeting written specifications.

<u>Term of Contract</u>: This bid is for the Transportation Department's "as needed" lubricants throughout the District. This is the first year of a three-year bid renewable annually by mutual consent of both parties. The first year contract period is September 4, 2008 through September 3, 2009.

<u>Notations and Exceptions</u>: Bid contains an escalation clause allowing the vendor to request a price increase in writing every 120 days during the contract period. Savings determined by averaging all non-awarded vendor prices and subtracting from recommended vendor's pricing.

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Bids Evaluated By: Tad Kledzik, Supervisor of Transportation Maintenance

Bids Prepared By: Gail Fowler, CPPB, Buyer

Reviewed and Authorized By: Kendra D. Goodman, CPPB, Purchasing Agent

DATE/TIME: August 26, 2008; 09:40:00

	F OPENING: AUGUST 14, 2008 2:30 PM	J. H. Williams Oil C		SSI Petroleum	
BID TITLE: LUBRICANTS - TRANSPORTATION		1237 East Twiggs St.		5131 Recker Highway	
BID #: 0	09-040-GF	Tampa, FL 33602		Winter Haven, FL 33880	
ITEM#	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
M-1	Motor Oil - SAE 15W40				
	5000 gallons - per gallon	8.545	42,725.00		31,000.00
	Manufacturer:	Citgo		Castrol Tection Extra CJ4	15W4O
	Product #:	622720001		18550	
	275 college 55 college draws (5)	8.845	2,432.38	7.35	2 021 25
	275 gallons - 55 gallon drum (5)  Manufacturer:			Castrol Tection Extra CJ4	2,021.25
		Citgo			15W4U
	Product #:	622720001		55010	
M-2	Automatic Transmission Fuel				
	275 gallons - 55 gallon drum (5)	6.80	1,870.00	6.98	1,919.50
	Manufacturer:	Citgo		Castrol HD ATF/Dexton III/Mercon	
	Product #:	661433008097		25009	
	1500 11 11	( 20	0.450.00	( 40	0.600.00
	1500 gallons - per gallon	6.30			9,600.00
	Manufacturer:	Citgo		Castrol HD ATF/Dexton II	1/Mercon
	Product #:	661433008097		25000	
M-2A	Transynd Synthetic Transmission Fuel				
	275 gallons - 55 gallon drum (5)	17.00	4,675.00	22.20	6,105.00
	1500 gallons - per gallon	16.00	24,000.00	21.45	32,175.00
	Manufacturer:	Amalie		Castrol Autran 295	
	Product #:	160-72863-05		709700	
M-3	Hairrageal Coom Luber 05W 140 (5)				
101-3	Universal Gear Lube - 85W-140 (5) 2000 lbs 5 - 400# sealed drums	1 (027	2 207 40	1 15	2 200 00
	Manufacturer:	1.6037		1.15 Castrol AD Gear 85W140	2,300.00
	Product #:	01045477		20319	
	Floduct #.	010434//		30319	
	I .	1	1		

DATE OF OPENING: AUGUST 14, 2008 2:30 PM				SSI Petroleum	
BID TITLE: LUBRICANTS - TRANSPORTATION BID #: 09-040-GF		1237 East Twiggs St.	<u> </u>	5131 Recker Highway	
BID #: 0	9-040-GF 	Tampa, FL 33602		Winter Haven, FL 33880	
ITEM#	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
M-4	Automotive Grease (NLGI) #2 Grade				
	2000 lbs 400# drum (5)	2.00	4,000.00	1.76	3,520.00
	Manufacturer:	Citgo	Í	Castol Pyroplex Red	ŕ
	Product #:	655340001		52259	
	1440 lbs 120# drum (12)	2.079			2,836.80
	Manufacturer:	Citgo		Castol Pyroplex Red	
	Product #:	655340001		52258	
	280 lbs 35# pail (8)	2.134	597.52	1.98	554.40
	Manufacturer:	Citgo		Castol Pyroplex Red	334.40
	Product #:	655340001		52257	
	Troduct π.	033340001		32231	
	14 oz. Cartridge tubes (300)	1.82	546.00	2.39	717.00
	Manufacturer:	Citgo		Castol Pyroplex Red	
	Product #:	655340001		52253	
M-5	Hydraulic Fluid				
IVI-3	110 gallons - 55 gallon drums (2)	9.00	990.00	7.43	817.30
	Manufacturer:	76		Castrol Universal Tractor	
	Product #:	01042393		Castrol Universal Tractor	Fluid
	Product #.	01042393		20109	
	100 gallons - 5 gallon pails (20)	8.75	875.00	8.72	872.00
	Manufacturer:	76		Castrol Universal Tractor	· Fluid
	Product #:	01042393		20167	
	TOTAL "ALL OR NONE" BID PRICE:		98,362.06		94,438.25
			,		

DATE OF	F OPENING: AUGUST 14, 2008 2:30 PM	Ward Oil Co. Inc.		Ward Oil Co. Inc.	
BID TITLE: LUBRICANTS - TRANSPORTATION		2701 E. Louisiana Ave.	2701 E. Louisiana Ave.		).
BID #: 09-040-GF		Tampa, FL 33610		Tampa, FL 33610	
		1 /		1 /	
ITEM#	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
				ALTERNATE PRICE	ING
M-1	Motor Oil - SAE 15W40				
	5000 gallons - per gallon	9.56			
	Manufacturer:	Fina		Fina	
	Product #:	Kappa Premium CJ4		Kappa Premium CJ4	
	275 11 55 11 4 (5)	9.99	2.747.25	9.20	2 270 75
	275 gallons - 55 gallon drum (5)		,		,
	Manufacturer:	Fina		Fina	
	Product #:	Kappa Premium CJ4		Kappa Premium CJ4	
M-2	Automatic Transmission Fuel				
	275 gallons - 55 gallon drum (5)	9.25	2,543.75	7.55	2,076.25
	Manufacturer:	Fina		Fina	
	Product #:	Multi Purpose ATF 121	15	Multi Purpose ATF 12	115
	1500 gallons - per gallon	8.77	,		,
	Manufacturer:	Fina		Fina	
	Product #:	Multi Purpose AFT 121	15	Multi Purpose AFT 12	115
M-2A	Transynd Synthetic Transmission Fuel				
101 271	275 gallons - 55 gallon drum (5)	18.77	5,161.75	17.07	4,694.25
	1500 gallons - per gallon	18.40			,
	Manufacturer:	Fina	1	Fina	,
	Product #:			Synpro ATF Synthetic Fluid Full	
	Troduct π.			Synthetic PAO	
		,		,	
M-3	Universal Gear Lube - 85W-140 (5)				
	2000 lbs 5 - 400# sealed drums	1.452			
	Manufacturer:	Fina		Fina	
	Product #:	Pontonic MPX 85W140	28159	Pontonic MPX 85W140 28159	
			1	1	I

DATE OF OPENING: AUGUST 14, 2008 2:30 PM		Ward Oil Co. Inc.		Ward Oil Co. Inc.	
BID TITLE: LUBRICANTS - TRANSPORTATION		2701 E. Louisiana Ave.		2701 E. Louisiana Ave	
BID #: 09-040-GF		Tampa, FL 33610		Tampa, FL 33610	
ITEM#	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
M-4	Automotive Grease (NLGI) #2 Grade				
	2000 lbs 400# drum (5)	1.957	3,914.00	1.757	3,514.00
	Manufacturer:	Fina		Fina	
	Product #:	Marson Liplex 2 39873		Marson Liplex 2 3987	3
	1440 lbs 120# drum (12)	1.984	2,856.96	1.784	2,568.96
	Manufacturer:	Fina		Fina	
	Product #:	Marson Liplex 2 39873		Marson Liplex 2 3987	3
		•		•	
	280 lbs 35# pail (8)	1.78	498.40	1.72	481.60
	Manufacturer:	Fina		Fina	
	Product #:	Marson Liplex 2 39873		Marson Liplex 2 3987	3
		•		•	
	14 oz. Cartridge tubes (300)	2.08	624.00	1.87	561.00
	Manufacturer:	Fina	021.00	Fina	301.00
	Product #:	Marson Liplex 2 39873		Marson Liplex 2 3987	3
M-5	Hydraulic Fluid				
IVI-3	110 gallons - 55 gallon drums (2)	9.67	1,063.70	7.97	876.70
	Manufacturer:		/	Fina	
		Fina Universal Transdraulic Fluid 14100		Universal Transdraulic Fluid 14100	
	Product #:	Universal Transdraulic I		Universal Transdraulic	F1u1d 14100
	100 gallons - 5 gallon pails (20)	10.33	1,033.00	8.63	863.00
	Manufacturer:	Fina		Fina	
	Product #:	Universal Transdraulic l	Fluid 14100	Universal Transdraulic	Fluid 14100
	TOTAL "ALL OR NONE" BID PRICE:		111,901.81		95,306.51
				*Pricing for 60 days. A	After 30
				days notice from vendor, prices may	
				change from brand ma	